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1 |deiEE 1.3E+3 1,344.0
2 | BEHRER 3.0E+3 2,967.0
3 |5FE 1.0E+2 102.0
4 |EHE 2.0E+2 201.0
5 |HEER 5.1E+1 51.0
6 |WEE 1.9E+2 192.0
7 |&REBE 7.5E+1 75.0
8 |RHE 2.3E+3 2,334.0
9 [HARE 6.3E+2 630.0
10 |HEE 2.5E+2 252.0
11 |BER 3.3E+2 327.0
12 | FE& 2.9E+3 2,889.0
13 |BEE 1.0E+2 102.0
14 |[ERNE 2 4E+2 240.0
15 |FiRg 1.4E+2 138.0
16 |EWE 9.0E+0 9.0
17 |RIE 9.3E+1 93.0
18 |f@FR 1.8E+1 18.0
19 |WRE 9.0E+0 9.0
20 | RHER 1.1E+2 108.0
21 |IFRE 1.1E+2 114.0
22 |FEER 4 7E+2 468.0
23 | EHME 5.2E+2 519.0
24 |ZEE 2.2E+2 222.0
25 |#ER 1.5E+2 147.0
26 |FABAT 2 7E+1 27.0
27 | XBRAF 9.0E+0 9.0
28 | EER 2.7E+1 27.0
29 |XBR 3.0E+0 3.0
30 |FFLE 3.0E+1 30.0
31 |BRE 4 8E+1 48.0
32 |ERE 1.2E+1 12.0
33 |EWLE 9.0E+0 9.0
34 |[LER 6.3E+1 63.0
35 |LWAOR
36 |EESR 1.3E+2 126.0
37 |BINE 1.8E+1 18.0
38 |ERE 6.6E+1 66.0
39 |SHE 6.4E+2 642.0
40 |t&fEE 2.1E+2 207.0
41 |EER 9.0E+0 9.0
42 |RIGE 1.8E+2 183.0
43 |EERE 6.0E+2 603.0
4 [ KHE 2.0E+2 195.0
45 [EBE 2.1E+3 21240
46 [BRIRSE 8.3E+2 828.0
47 _LFigE 3.0E+0 3.0

E{Ed| 1.9E+4 18,783.0
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